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\Which sector will be the most challenging to
decarbonize in Germany?
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Agriculture Power Industry Transport Buildings
generation
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Please assess the importance of the following mitigation ~ “Vetm
strategies /measures for decarbonizing the industry
sectors

Energy Efficiency
m

Material Efficiency

Circular Economy

m
Fuel Switch

3.6

Negligible
Essential

Process Switch

—
Grbon Capture usage storage (CCS)

Demand reduction
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In which sectors do you expect the use of negative MShc
emission technologies (multiple choice)

9

2

1

Power Steel Cement Other None
industry

s



12

11

In which sectors do you expect the use of hydrogen MDA
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technologies (multiple choice)
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Power Steel Cement Chemicals Other Transport Buildings None
industry
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How wiill the German (Primary) Energy Consumption evolve #Vertmet
taking into consideration the GHG emissions mitigation
measures?

Total Econom¥ @

Will Decrease
Will Increase

Industry




Please assess the importance of the following mitigation  «Mentimete
strategies /measures for decarbonizing the industry
sectors

Bio-energy with qubo&Cupture and Storage (BECCS)

Biomass

E-Fuels

—@

Carbon-free electricity
3

Negligible
Essential

Fossil fuels w‘th Carbon Capture, Usage or Storage (CCUS)

Hydrogen

Other carbon-free heat

m



